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13)
Choose the correct Antonym for—

‘Cynical’.

1)
Pessimistic

2)
Gullible

3)
Equivocal
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Liberal
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25)
Choose the correct Synonym for—

‘Extempore’

1)
Planned

2)
Improvise

v 3)
Impromptu

4)
Immediate
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28) lIdentify the incorrect word/phrase indicated by (1), (2), (3) or (4) in the
following sentence: A doctor may be able "to diagnose" a problem "prefect"
but he may not able to find a drug "to which" the patient "will respo

1)
to diagnose

v 2)
perfect

3)
to which

4)
will respond

AT : Verb (@ Modify 9 adverb Q3R verb - U9 9 adverb I071 @& - He speaks
fluently . 'Diagnose’ transitive verb (55 &1 ) | B2 Diagnose + object +
adverb I Perfect - U3 adverb e perfectly . ©R 5% B6d ()|
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36) Choose the correct synonym for- ‘Menacing’

1)
Encouraging

v 2)
Alarming
3)
Promising
4)
Auspicious

I : Menacing WY - G534 | Encouraging 9 - 3esR (& , Alarming Y - Sifoag
; Promissing ¥ - TRATH ; Auspicious - T BT ; Tpet | A menacing \3
alarming a1YF <=1 |

37) Choose a suitable word/phrase to fill in the blanks of the given sentence:
Travelers their reservation well in advance if they want to visit the St.
Martins island.

1)
had better to get

2)
had to better get



v 3)
had better get

4)
had better got

I : X3 had better get I5¥, @ddl had better U3 *K verb - A< verb - Q3
base form JI|

38) Choose the pair of words that expresses a relationship similar to that of
the given pair:
WORDS : WRITER

1)
Laws : Policeman

v 2)
Butcher : baker

3)
Chalk : black board

4)

Joy : emotion

AT = writer - (EUF) ITS IW words (=) faw a2 Baker (FT a80IRI) IS IR
butter (81%q) faw|
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47) “No news is good news”

1)



It is likely that we expect bad news

2)
It is likely to have bad news

v 3)
It is likely that nothing bad has happened

4)
It is unlikely that nothing bad has happened

I : It is said to make someone feel less worried when they have not
received information about someone or something, because if something
bad had happened, they would have been told about it:
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54) A bird in hand is hand is worth two in the bush.

v 1) Take what you have got readily available rather than expecting better
in the future.

2) The seen is better than the unseen

3) Promises are better than actuals

4) It is no good beating about the bush

T : QBT 2R}, TH WL AfAREO AP ORI (T 200 AN FF fGias\s ST |

55) The sentence “Who would have thought Shylock was so unkind”
expresses—
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hyperbole

2)
interrogation

3)
command

v 4)

wonder

4T : Who would have thought Shylock was so unkind? ¥ - & (&R&&a @
Shylock e fdwd 21? T wonder 1 RPET 26PT B | o1 53T TG () |
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58) After food has been dried or canned ___ for later consumption.

v 1)
it should be stored

2)
that it should be stored

3)
should be stored

4)
which should be stored

AN = IRAITD After et ©=F 281 “)K9! clause 0 independent 21 @€ Sub + verb
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60)

Identify the incorrect word/phrase indicated by A. B. C. or D. in the following sentences:

Every man or woman should vote for the candidate of their choice.

1)
Every

2)
should

3)
for

v 4)
their

61)
“Not once has our neighbour invited us into his house.”

1)
Our neighbour has invited us into his house not once but many times

v 2)
Our neighbour has never invited us into his house

3)
Occasionally our neighbour has invited us into his house

4)
Our neighbour has not always invites us into his house
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65)
Despite being a brilliant scientist, he does not seem to get his ideas across.

v 1)
make his ideas understood

2)
get his ideas down pat

3)
summarise his ideas

4)
put together his ideas
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Choose the meaning of the given expression:
To ‘raise ones brows’ indicate __

1)
Annoyance

2)
Disapproval

3)
Indifference

v 4)
surprise
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69) BTRC - 13 &K [0 @110 ?
1)

Bangladesh Telephone Regulatory Commission

v 2)

Bangladesh Telecommunication Regulatory Commission

3)



Bangladesh Telephone and Telecom Regulatory Commission

4)
Bangladesh Telephone and Telegraph Regulatory Commission

AN : BTRC - W9 3:&@RK 1F<1 Bangladesh Telecommunication Regulatory
Commission | AT Gieearsticarst fage 3fpad ( BTRC) 2f5o 2 sv aféfet 2005 5|

O U7 IRFT OF 2 3003 HERK O SR |
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73)
Find the mistake - According to experts a good way to improve listening skill
in by watch television, specially news and documentaries.
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to
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improve
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81)

select the alternative which best expresses the meaning of the given sentence:

“We were no more surprised than Rahman”

1)
We were less surprised than Rahman

2)
We were all surprised

3)
Rahman was less surprised than us



v 4)
We were as surprised as Rahman

82) Choose the pair of words that expresses a relationship similar to that of
the given pair : Patron : support
1)
Spouse : Divorce

2)
Artist : imitation

v 3)
Counselor : Advice

4)
Restaurant : Customer

741 : Patron (%{W) support (58Yd) ¢ 132 Counselor ( ToRT) advice
(B=CPT) ¢ |

83) Choose the word/phrase that best retains the meaning of the underlined
word/phrase in the given sentences:
What may be considered courteous in one culture may be arrogant in
another.
1)
flimsy

2)
coarse

v 3)
gracious

4)
friendly

TN : Courteous - O ; G0 | Flimsy - 1T 2ToeT1 1 ’pafecd , Coarse W - GHI0T

WSO Gracious - O, GG ; Friendly - Ig3Te Q4| courteous \3 gracious
STATYP > |
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85) Choose the pair of words that expresses a relationship similar to that of
the given pair : Heart : human

1)
Wall : Brick
2)
Hand : Child
3)
Kitchen : House
v 4)
Engine : Car

I : Human (F199) @ 51581 9 heart (20f*19) W3R Car (sM%) @ 51 Y engine
(3fega) |
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